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1. Sketch the root locus for a system with an open-loop transfer function as follows. (20%)

1
(s +1)(s* +10s + 34)

2. Using the Routh’s stability criterion, determine the value of K for which the system is stable. Write the
differential equation relating the input R(s) with respect to the output Y (s). (20%)

i §+3

R K . .'.'{.\': + 45+ 35) ! 1 Y

1

s+1

3. Pick up an example. Showing the design of a controller can do the disturbance rejection job. (20%)

4. Sketch the Bode plot (20%)

~ 2000
s(s + 200)

5. From the sketch of the asymptote of the Bode plot magnitude and phase for following open-loop transfer
function. Write the transfer function. (20%)
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